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QUESTION 1

Which statement is FALSE regarding SBSPACES?

A. They are recoverable.

B. They do not obey transaction isolation modes.

C. They have read, write, and seek properties similar to a standard UNIX file.

D. Smart large objects within table rows are not required to be retrieved in one statement.

Correct Answer: B

QUESTION 2

Which operation can benefit from PDQ?
A. Checkpoints

B. Data replication

C. DML Statement

D. Login Log flushing

Correct Answer: C

QUESTION 3

Which statement is FALSE about dbspace configurable page sizes?

A. Dbspace page size can only be set for non-critical dbspaces.

B. Possible page sizes are multiples of the default page size up to 16 kb.

C. Configure page sizes as close to the backup / restore and network buffer size as possible for efficient data transfer
across the wire.

D. Dbspace page size should be configured to accommodate the greatest number of average row sizes with a minimum
of remainder pages being used.

Correct Answer: C

QUESTION 4

Consider the following Enterprise Replication command: cdr define template templ -c g_servl -C ignore -a -d testdb.
Which statement is TRUE?
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A. The command defines a template to be realized on servers serv4 and servb.
B. The command defines a template to exclude database testdb from replication.

C. The command defines a template to replicate the entire database testdb by defining replicates for each of the user
defined tables in testdb.

D. The command defines a template to replicate the entire database testdb by defining replicates for each of the views
and system tables in testdb.

Correct Answer: C

QUESTION 5

Which two statements are true about archecker utility? (Choose two.)

A. Archecker can help developers team to debug procedures.

B. Archecker can do backup testing, fully integrated with onbar and ontape utilities.

C. Archecker can copy data from different servers, even restoring from a remote device.

D. Archecker can use all kind of connections protocols, including shared memory connections.

E. Archecker can do data restore (physical or logical) of database portions, table portions, or even a set of tables.

Correct Answer: BE
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